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Linear equation

Cora Q-1 Which one of the following option is true, and why?
(o)
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y=3x+5 has
1. A unique solution
2. Only two solution
3. Infinitely many solutions
Solution:
* Infinitely many solutions

* Because a linear equation in two variables has infinitely many solutions. We keep changing the

value of and solve the linear equation for the corresponding value of
Q-2 Write four solutions for each of the following equations:
1. 2x+y=7
2. ax+y=9
3. x=4y
Solution:
i) 2x4+y=7
For x=1,
2()+y=7
>y=5

Therefore, (1,5) is a solution of this equation.

For x=2,
2Q2Q)+y=7
>y=3

Therefore, (2,3) is a solution of this equation.

For x=3,
2Q08)+y=17
=>y=1

Therefore, (3,1) is a solution of this equation.

For x=4,
24)+y=7
= y=-1

Therefore, (4,-1) is a solution of this equation.
Four solutions of 2x+y=7 is (1,5),(2,3) , 3,1),(4,—1)
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i) zx+y=9

For x:l

T

1
ﬂ<—>+y=9
T
>y=9

Therefore, (l, 9) is a solution of this equation.
T

For x =

“(

= y=17

ENNS)

ERES

>+y=9

Therefore, <E,7> is a solution of this equation.
T

For xzi,
T

o(3) 4=

=>y=6

8w

Therefore, <i 6) is a solution of this equation.
T

For x = i
T

ﬂ<i>+y=9
pia

>y=5

Therefore, (i 5) is a solution of this equation.
T

1 2 3 4
Four solution of zx +y=9 <—,9> , (—,7> , <—,6> ) <—,5>
T T T T

iii) x=4y
For x=38,
8 =4y
=>y=2
Therefore, (g,2) is a solution of this equation.
For x =12,
12=4y=3

Therefore, (12,3) is a solution of this equation.
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For x =16,
16 =4y
>y=4
Therefore, (16,4) is a solution of this equation.
For x =20,
20 =4y
y=S5
Therefore, (20,5) is a solution of this equation.

Four solution of x =4y is (8,2),(12,3),(16,4),(20,5)
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